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Sampling w/ replacement : Is balls
,

15 red & 10 blue

⇒ Draw 3 balls
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one at a tin 're
, put back between draws
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' Bit strings ( Bytes )

° Rend , Exp . : . flip fan coin
.

8 + lines

' heads → output 1

tails → output 0

=) generates a byte .
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÷= byte has exactly 4 Is
.
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Ea= byte that tonot contain consecutive Is
.

mm 00

- Generate 2 bits at a twine 01 ) allowed

¥
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then the next two bits can't be 10

first 2 bits nextonbib next Zbih last 2biB

- 00,10 - oo
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00,01 → 1
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\
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\
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- 00,01 → 1. 1.1-2=2
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- Weighted average


